DIN #rAE#Esk
P = NG
WH-M-KDS 5 ESEEL — AREarnsE
L1
s2 [~ -
2 1) s
S1 °
\LL ™ s3 ‘ 8
- T
0 7& 78 a T
| Sty
| S
(AN
{ N junj
3¢ ‘ X2) X3)
iy @ D4 X1) ORLE
D4 oD6 X2) B E KDS(AF /ML OEEMO 1S09974)
T X3) %4 E KD(RF 3 7L 0 FEH O 1S09974)
oD5
D1 Tk (bar)
D5 | D6 58
%5 | T |D3|D4|KDS|KD | L1 |L2 |[L3|L4|L5| L6 |L7|S1]|S2]|83]| =/t TS CF | 71
L |06 [M10x1 | 4 | 45|14.9(17.0]19.0|12.0|105]| 8 |24.0| 27 | 25| 17 | 17 | 14 54 | WHOBLMKDSOMD | 315 | 315
08 [M12x1.5| 6 | 6.0[17.0|22.0|21.5|14.5|14.0| 12 |30.0| 29 | 3.0 | 22 | 19 | 17 97 | WHOBLMKDSOMD | 315 | 315
10 [M14x15| 8 | 6.0(18.9(22.5(22.5[15.5[14.0| 12 |30.0| 30 | 3.0 | 22 | 19 | 19 | 104 |WH10LMKDSOMD |315 | 315
12 |M16x1.5| 10 | 7.5|21.9(27.0(25.0(18.0[16.5| 12 |36.0| 33 | 3.0 | 27 | 24 | 22 | 180 |WH12LMKDSOMD |315 | 315
15 |M18x1.5| 11 | 9.0|23.9|29.0|27.5|21.5[185| 12 |39.5| 37 | 3.0 | 30 | 30 | 27 | 244 |WHISLMKDSOMD | 315|315
18 |M22x15| 15 |12.0 |26.9|32.0(28.5(21.0[215| 14 |45.0| 37 | 45 | 32 | 30 | 32 | 327 |WHIBLMKDSOMD | 315|315
22 |M26x1.5| 19 [17.0 |31.9|41.0|35.0|27.5|24.0| 16 |53.0| 44 | 35| 41 | 36 | 36 | 573 |WH22LMKDSOMD | 160 | 160
28 |M33x2 | 24 [21.0|39.9|46.0[39.5(|32.0|30.5| 18 |66.0| 49 | 35| 50 | 46 | 41 | 1017 |WH28LMKDSOMD | 160 | 160
35 |M42x2 | 30 [27.0 |49.9|57.0|46.5|36.0|35.5| 20 |76.0| 58 | 35| 60 | 55 | 50 | 1512 |WH35LMKDSOMD | 160 | 160
42 |M48x2 | 36 |34.0 |55.9|64.0|51.5|40.5|40.5| 22 |87.0| 63 | 35| 70 | 60 | 60 | 2217 |WH42LMKDSOMD | 160 | 160
S |06 |M12x15] 4 | 6.0]17.0|22.0/235(16.5|14.0] 12 [30.0| 31 | 3.0 | 22 | 19 | 17 | 104 |WH06SMKDSOMD | 400 | 400
08 |M14x1.5| 5 | 6.0|18.9|22.5(23.5/16.5|14.0| 12 {30.0] 31 [ 3.0 | 22 | 19 | 19 | 110 |WH0BSMKDSOMD | 400 | 400
10 |M16x15| 7 | 7.5(21.9(27.0(26.0(18.5[16.5| 12 |36.0| 35 | 3.0 | 27 | 24 | 22 | 186 |WH10SMKDSOMD | 400 | 400
12 |M18x1.5| 8 | 9.0|23.9(29.0(27.5(20.0(185| 12 |395| 36 | 3.0 | 27 | 27 | 24 | 246 |WH12SMKDSOMD | 400 | 400
14 |M20x1.5| 10 |10.0 32.0|30.5|22.5|20.0| 14 |435| 40 | 3.0 | 32 | 30 | 27 | 322 |wH14SMKDOMD 400
16 |M22x15| 12 |12.0 |26.9(32.0(30.5[22.0[215| 14 |45.0| 40 | 45 | 32 | 30 | 30 | 327 |WH16SMKDSOMD | 315|315
20 |M27x2 | 16 [16.0 |32.9|41.0|37.0|26.5|24.0| 16 |53.0| 48 | 35 | 41 | 36 | 36 | 598 |WH20SMKDSOMD | 315 | 315
25 |M33x2 | 20 [21.0 |39.9|46.0 [43.5|31.5|30.5| 18 |66.0| 56 | 3.5 | 50 | 46 | 46 | 1055 |WH25SMKDSOMD | 250 | 250
30 |M42x2 | 25 [27.0 |49.9|57.0|50.5|37.0|35.5| 20 |76.0| 64 | 35| 60 | 55 | 50 | 1572 |WH30SMKDSOMD | 160 | 160
38 |M48x2 | 32 [34.0 [55.9|64.0|57.5|41.5|40.5| 22 |87.0| 72 | 35| 70 | 60 | 60 | 2317 |WH38SMKDSOMD | 160 | 160
*AEBBRFE, BRESRFRAEHMENESSEDER.
TESRE
T RELE |l EE R
Rtk
e |
HEALE R FeARINEEIESE CF WH16SMKDSOMDCF | NBR
HRENES | BN 71 WH16SMKDOMD71 | VIT/PTFE

TEEMELAKDE B, 71T 55 h LIKDREKDS.

D79

FEmFEZA 4100/CH



